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K =
C · p · n

100
(1)
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� 	 �	 � 
�	 � m �
6
��	 
�
�	 
���� +

m =
���	
	
� �� �� ������� 
� ���� �� ��
��	�� � � �
�� �

���	
	
� �� ��	��� � ��� � � �
	�� 
��

(2)
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� 	 � 
 �	 �	 �
�	 
��	 ,#- �	 � ����
 � ������+

K =
C · p · n

100 · m
(3)
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���	 ����

�
� 
 ��	 � 	 "
��	 
�	 n ���	 �	 
� � � �
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�#�	��# �� H ����	 (������'
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��� �)�) ��  ��� ���
�

�	 
	 3 #�A�.�#.����	 �	 �
 � ���������
�� �	 ����
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� �	 ����� ����� ��	 "
	 
�	 ���	 )

 �
� 	 �	 
��
 �
6
��	 
�� ��
	 �	 � 	 ����
��+ C =
100 000 �
�n = 0.5 ����
	 = 6 � �
�

��p = 6�

E�
�� ���� 
�� �	 � 	 �	 � ���
� � �	 �
�
	 ���� �
� 	

�
�	 
���,#- �� �
� 	 �
�	 
���,�-�� ���

� � � � ���
���

���	 �
� ��	 ���
� � m = 12�F � �
���
��� � �
 �	

�
�	 
��� ,#-+

K =
C · p · n

100
=

100 000 · 6 · 0.5

100
= 3000 �
�

(4)
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	 �� C = 90 000�n = 100 �	 
	 �

p = 7.5 �m = 360� E�
�� ���� 
�� �	 � 	 �	

�	 �
�
	 � � ������
"
��
 �
�	 
���� ,�-+

K =
C · p · n

100 · m
=

90 000 · 100 · 7.5

100 · 360
= 1875 �
.

(5)
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 ��
���
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90 000 + 1875 = 91 875 �
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�� � ��	 ��� �	 ������
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����!���

�	 �
 C = 10 000 7!4�p = 7.2 �K = 120 7!4�

H �	 ��

� ����
� 
 n � ��	 �������	 �	 
� � � �
�

�� 	 �

� 	 ��	 ���
� � m = 12�E� �
�	 
��
 ,�- �	 �	 ����
��+

n =
100·K·m

C·p
=

100·120·12

10 000·7.2
= 2 I� �
�

	 ℄�

(6)
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�Cmax ��
���
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 � ���	 ����

�	 ����
�
�)

F �
	 �
�� �+

d := D2 − D1, (7)

d′ := D2 − D. (8)

H 
 �	 ����
 �	 ��� 	 ���	 �
�
	 �	 �� �
 � �
� 	 �	 �

�	 �

���H 	 �� � ����
� #� �� �	 �
 
����	 �

�	 
���
�
"

�

� ����
� �+

�#�$��	 ��  �
�� �� �	 ��� � �	 �
 ��	 �
�
	 C

�����

	 
	 d �	 
	 �� � �	 �	 
������
���	 � 	 �
�	 �

p�$
�	 �
 d′ ∈ [0, d]�F ��
��� � ��	 �
�
� C1 ����

��
�	 ��������
	 d′ �	 
	 �� � �	 �	 
������
���	 � 	 ��


�	 � p1 �	 �� �	 ��
	 �


 ����
�
��������� ��	 �
�
	

���� �
�
	 �
�

 �
� 	 �
�	 
���,�-� ��
	 �

	 ����
�
��� ��	 �
�

 C

��
���+

C1 = C+K = C+
C · p · d

36 000
=

(

1 +
p · d

36 000

)

·C.

(9)

/
	 ���
����
	 �

	 ����
�
�����	 �
�

 C1 ��
���+

C′

1 = C1 + K = C1 +
C1 · p1 · d

′

36 000

=

(

1 +
p1 · d

′

36 000

)

· C1.

(10)

 �
� 	 ���
�� � ����
� 	 .�� ��	 ����
�����
�
	 ��� �+

C1 = C′

1. (11)

E��
�
	 �
	 �	 
�
� �
�
�� ���	 
	 �
�
	 ��� ��,B- �,#�-

�����	 � �+
(

1 +
p · d

36 000

)

·C =

(

1 +
p1 · d

′

36 000

)

·C′
. (12)

M 
�
	 ��� �,#.- �
 ��

	 �
	 �
�
	 ����	 � �
�
�� 

�

� ��
	 
�
�� C′�? ��
���� � ���
������
� �+

C′ =
(36 000 + p · d) · C

36 000 + p1 · d′
. (13)
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p� d �p1 �	 �	 �� �
	 � ���
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� ��
��
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��
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��
�

� 


 � ���	 �
-� �
���
�
� C′ � ���
� � � ��	 �����	 �

3�
�
��� �	 ���	 ��
 d′� !���	 � ��� ����� � 3�
�
���

f : [0, d] → R �
6
��	 
� � ��� ���� +

f (x) =
(36 000 + p · d) · C

36 000 + p1 · x
(14)

!��� 	 �	 � 
��������
 � ��	 ������ � � ��� ��� ,#%- � ����

�� �� � ������
��� 	 �	 �����
��
� � �	 �
 f 

� �
���
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	 �
	 3�
�
��	 �F
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� ����
�
���� ��
��� ��	 
�
�

����
 ��� 


�����	 x N ����	 ����
�
����
�
	 �	

�
+

fmax =
(36 000 + p · d) · C

36 000

prema (8)
= C1. (15)
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����
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	 �	 �
+

fmin =
(36 000 + p · d) · C

36 000 + p1 · d
. (16)
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fmin < C. (17)
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E� �
�� �	 � ��� �
�	 � �����	 ��C = 199 650 �
�p =
12�d = 80�p1 = 10�d′ = 1.7.−1.6. = 30 �	 
	 �

 �
� 	 �
�	 
���,#�-�
	 ��
"
	 � ���"
	 
��

	 � � �����

�����	 � ���
 � ���	 ���	 ����
�
� �#��C�.�#.���
���+

C′ =
(36 000 + p · d) · C

36 000 + p1 · d′

=
(36 000 + 12 · 80) · 199 650

36 000 + 10 · 30
= 203 280 �
.

(18)
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�
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K =
C · p · d

36 000
=

199 650 · 12 · 80

36 000
= 5324 �
.

(19)
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E� � ��	 �	 �	 � �	 �	 ��� � �����	 ��C = 100 000 �
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C′
≥ 101 000, (20)
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(36 000 + p · d) · C

36 000 + p1 · d′
≥ 101 000. (21)
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(36 000 + 10 · 90) · 100 000

36 000 + 9 · d′
≥ 101 000 (22)
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d′
≤

6 000

101
≈ 59.4. (23)
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